&
"4

P7:webedi P8:ampi(C3)
-2.8930m7T 4 mv
v A

Xi= -976.00ps AX= 59704ms
X2= 40944ms 1VAX= 167.49Hz

TELEDYNE LECROY

27512020 3:53:43 PM



Measure P1:webedi P2:web edd P3:web edit P4wab edit P5:mean(F2) P6:mean(F4)
value -11.221mT -14.1286 mT -2.9073mT -277.346 mV -62.6326 dBm
status 4 v v v v

P7webedt P8:ampi{C3)
-29073mT 38 mv

v R

X1= -07600us AX= 59704ms
X2= 49944ms 1AX= 16749Hz

) Input has Invalid .

252020 3.57:30 PM



X1= -976.00pus AX= 5.9704ms
X2= 49944ms 1/AX= 16749Hz

2i5/2020 4:00:14 P
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Weasure P1:web edt P2web edit P3:webedi P4dwebedi P5:mean(F2) P6:mean(Fd) P7:web edd P8:ampl(C3)

value -34.708 mT -35.0061mT ~298.0 uT -281.366 mv -72.6479dBm -298.0 uT B mv

status v v v v v v s
=

Xi= -976.00us AX= 5.9704ms
X2= 4.98944ms 1AX= 16749Hz

TELEDYNE LECROY 2502020 40452 PN
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Measure P1:web edit P2:webedd P3:webedit P4:webedit P5:mean(F2) P6.:mean(F4) P7:webodd
value 2990 mT -10.659 mT -13.649mT -281.03 mvV -54.6499 dBm ~13.649mT
stalus v v v v v v
... ———

X1= -976.00us AX= 59704ms
X2= 40944ms 1AX= 16749Hz

TELEDYNE LECROY

2/5/2020 4:08:47 PM
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Measure P1webedi P2webedt P3:web edt P4web edi P5:mean(F2) P6:mean(Fd)
value -15315mT -17.861 mT -2.546 mT -284 54 mv -63.3941 dBm
v v v

P7.web edt P8:ampi(C3)
2546 mT 34 mv
v b

X1= -976.00pus AX= 59704ms
X2= 49944ms 1/AX= 16749Hz

TELEDYNE LECROY

2/512020 4:15.30 PM
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Measwe P1webedt P2web edt P3:web edl P4dwebedi P5:mean(F2) Pé:mean(F4) P7:web edit P8:ampl(C3)
value -61.354mT -61.4316 mT -r2yT 281911 mv -79.5746 dBm 11247 IAmv
stalus v v v v v A
b~ It ] F2 TR

-976.00ps AX= 59704ms
X2= 49944ms 1AX= 167.49Hz

TELEDYNE LECROY

27502020 416:33 PM
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Moasure P1:web edit P2:web edt P3web edit P4:web edi P5:mean(F2) Pé:mean(F4) P7webedt P8:ampi(C3)
value -57.491mT -57.5821mT 907 uT -278.845 mV -79.0892 dBm -90.7 yT 36 mV
statug v v v v v .

v b

X1= -8976.00ps AX= 59704ms
X2= 4.0944ms VAX= 167.49Hz

2752020 4:22:02 PM
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Moasure Piwebedt P2:weob edit P3web edit
value -30.382mT -30.8267 mT 4449 T
status v v 4

P5:mean(F2) P6:mean(Fd) P7web edit P8:ampl(C3)
-303.136 mv ~70.7049 dBm 4449 yT 34 mv
v v

U ¥

v S

X1= -876.00us AX= 59704ms
X2= 40944ms 1/AX= 16749Hz

TELEDYNE LECROY

2/5/2020 4:26:25 PM
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Measure P1:mean({Z1) P2:mean(Z4) P3:mean(C1) P4:mean(C4) Pa:phase(C1 ,C4) PG:- - -
value -75.58 myv -52.38 mv 9283 mv 736 my 56.60333462586 °
v 4 v

205/2020 4:27:26 PM



5-Feb-20

16:27:52
1
1 ms o —
b.560 W ;
s ﬂ‘mm_
-2 SN —
1 ms
200 my
..3 TGRS ST A et ."-:.::-_'gi
1 ms
B.50 WV
’ﬂ
1 ms 4808 sweeps: average low high sigma
20E my rms (]) 418 . 1 my 411.9 431.7 2.3
rms(2) 33.Tmy 19.5 653.b 4 _4
rms (3] 462 .4 my 395.9 411.1 3.3
rms(4) 38 . 65myY 2b.b 6.0 5.4
1 ms phase(1,3) -3 ° -146 133 88
1 .5 V AC
2 .2 V AC
3.5 V AC ] Ext18 DC ©.15 V 500
ﬂ .2V AC

18 M5/s

NORMAL
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Measure P1:mean(Z1) P2mean(Z4) P3:mean(C1} P4:mean(C4) P5.phase(C1,C4) PE:.-- -
value -95.95 m¥ -83.40 mv 9345 mv 7438 my -35.4664536625 °

v v v

205/2020 4:27:56 Ph




A
Measure P1:mean(Z1) P2:meani(Z4) P3:mean(C1) P4:mean(C4) P5:phase(C1,C4) PB:- - -
value 9382 mv -53.08 mv -94.03 mv -82.82 mvy -34.1201044386 °
v v v

21572020 4:28:33 PM



5-Feb-206

16:28:35
1
1 ms
B.58 v
2
1 ms
200 mY
3
1 ms
B.56 v
4
1 ms
200my rms (1)
rms(2)
rms ()
rms (4]
1 ms phase (]
1 .65 ¥ AC
2 .2 ¥ AC
3 .5 V AC |
.2 Vv AC

11 sweeps:

.3)

average
418 .8mY
38 _OmY
402 . EmY
33.4my

-4 °

low
414 .3
33.4
401 .3
28.4
-145

Ext10 OC ©.15 W 5BN

high
421.5
41.4
404 .7
37.0

189

18 M5/s

NORMAL
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A
Measure Plwebedi P2:web edd P3:web edi P4:web edit P5:mean(F2) Pé:mean(F4) P7-web edd P8:ampi(C3)
value -29.992 mT -30.3978 mT -405.7 uT -323.662mvV ~70.3546 dBm -405.7 yT 3Ismv
v v v v v b4

-976.00us AX= 5.9704ms
X2= 40944ms 1AX= 168749Hz

2512020 4:33:02 PM



.'._:'I IJ]ll ”

Measure P1:mean(Z1) P2:mean(Z4) P3:mean(C1) P4d:mean(C4) P5:phase(C1,C4) PE:- - -
value -92 60 mYy -76.09 mv -90.30 my -76.91 mv -34 4774554352 "
v v v v

2572020 4:33:15 PM



5-Feb-20

16:33:17
1
1 ms
B.5E V
2
1 ms
208 my
-3
1 ms
B_5AE Y
2
1 ms
200 my rms (1 )
rms (2]
rms (%)
rms (43
1 ms phase(],3)
1 .5 V AC
2 .2 WV AC
3 .5 V¥ AC |
ﬂ 2 M AC

12 sweeps:

average
423 .9mVy
b6.4my
399. Tmy
4@ _BEmy

-8 °

Extl0 OC B.15 W 580

high
426.5
6E.0
481 .3
53. 1

103

_p.l—l-l—l-l—l-m.
[ e s o o O - T

18 M5/s

NORMAL
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